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o= A1 T 2 A3 A 4 B 5
H— B AR B 6,030 6,720 7,450 8,150 8,840
B R A N 60 60 60 60 60
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500 500 500 500 500
(1 % Az 1[E)
I ELRRR TR ET A 6,590 7,280 8,010 8,710 9,400
AR B AL O N
570 630 690 750 810
(AX8.6%)
= S 7,160 7,910 8,700 9,460 10,210
ERBAAT (7 E) 5,012 5,637 6,090 6,622 7,147
NERBAAT (8 ) 5,728 6,328 6,960 7,568 8,168
ERBAAT (9 ) 6,444 7,119 7,830 8,514 9,186
BCAHE (1#) 716 791 870 946 1,024
BCAHE (2#) 1,432 1,582 1,740 1,892 2,042
BECA#H (3#) 2,148 2,373 2,610 2,838 3,063
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FIFE CHERS | 28 1 Bl B2BRE | BIBREO | BIBREQ | 4B
1Y 300 600 1,000 1,300 1,600
JE{EE 0 430 430 430 915
—HY%47: v o e (D+©)
TNl | B2 | ENFES | Bl | ENEES

. 51 BeRg 1,003 1,076 1,155 1,230 1,303
Al | 55 2 Belg 1,733 1,806 1,885 1,960 2,033
;jﬁr ; % 3 B 2,133 2,206 2,285 2,360 2,433
& ?E % 3 B 2,433 2,506 2,585 2,660 2,733
- 55 4 Beg 3,218 3,291 3,370 3,445 3,518
2 Hf4H 3,921 4,067 4,225 4,375 4,521
3EAam 4,624 4,843 5,080 5,305 5,524
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